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Modrrle-l
I a. Dctcrminc current throu-eh l2f) resistor shorvn in

6ov

b.
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'l'lrird Semester B.E. Degree Examination, Feb./Mar. 2022

Network Theory

Max. Marks: 100

Notc: Ansx,er onv* FIL/E.full questious, cltoosittg ONE full question from eoch module,
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Fig.Q I (a), using sourcc translotmation

2JL

3oA

Fig.Q l(a)
F incl the e quivalcnt resistancc of the circtrrt sltou'n irt Fig.Ql (b),

tra n sto nnation.

(08 Marks)
using star delta

c. DiscLtss thc dependent sourc:es.

(08 Marks)
(04 Marks)

sty

(08 Marks)
voltiiges \/1, Vz,Vj and V+ using nodal

OR
Llsitrgloopanalysis,f-rndthecurrentthrough l0Qresistor{brthecircuitshor,vninFig.Q2(a).

\a\

For thc nctu'ork shor.vn

an al vsis.

Fig.Q2(a)
in Irig.Q2(b), clctcrlrinc nodc

EV

3
2ru

(08 Marks)
(04 N{arks)

\olL

Fig.QI(b)

Irig.Q2(b)

+

Explain thc sttper Mcsh u'ith cxiitnplc.

lol'4



Module-2
theorem. find the current through 20f) resistor shor'vu in Irig

I ttEc32

Q3(a).a. Using super Posltlon

tz A

b. Using Milhnan's
netr'vork shown in

Irig.Q3(a)

lheot'enr, cletcn-uinc thc current through (2 +

Irig.Q3(t.r).

2rL
i"^

Irig.Q3(b)

c. State the Norton's tireorcm ancl also u'rite thc proceciule to be lollowecl

problcm.

OR

what shoulcl be tlrc valuc ol'R such that t-tlaxinlunl po\\'er translbr can takes

rest of the netrvork to R. Obtaitr the amount of this []ower fbr circuit shor'vtr in

2qv

3o rL-

c. State the maximum
AC circuits.

(0tj l'larks)

.j2)Q inrpcclaucc lbr thc

(()tt \larks)
lbr solvirtg thc

(0.1 rYIarks)

placc liort-r thc

l;ig.Q4(a).

Fig.Qa(a) (ott )Iarks)

b. obtain the Thevinin's equivalcnt circuit cross ALI lbr the circuit shorvn in I]ig.Q4(b)

3

5a.

b.

Irig.ea(b) (0lt r'Iarks)

power translbr thcoicn-i ancl also rvritc ecluation ol I'""'" 1br both IXI arld

(0,1 lI a rk s)

Nlodulc-3
Expiain the transient bchavior of thc ,.*.rtnn.", itlciuctancc ancl cl4lacitor' Also r'r'ritc tltc

p.o".,Iu.. fbr evaluating transient behavior' ,- .,. 
t"' llarks)

In the network shor.vn in Fig.Q5(b), a stcadv statc is rcached rvith thc su'atch'i('opcn At

t = 0 the srvitch is closccl. I)etenninc thc valttc of V.(0') and V,,(0 )'

l'is.Q5(b)
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t < 0. If thcl:or the nctlvork shown in Fig

capacitor is initially uncharged

OR
.Q6(a) Vr(t) : e' for t > 0 and

,l

dercnninc llrc value of o It and
dt'

Fig.Q6(a)
lror-ri position 1 to position 7 att:

. Fi'd thc value .t'i tli ' d)i
, --and dd 

u,

- - L+
1,k1:1 g

t zo

15 ZCrO

drv"
----:: at
dt'

lor all

t:0'.
R,

20-.4 v2
\r Rz

b. 'l'he slvitcl, 'S' is changed

been reaclred in position 1

Fig.Q6(b).

2sv \OJL

Modtrlc-4
Find thc [-aplace lransfbrm o{'f(t) shou't.r in lrig.QT(a)'

b. Finci the

\a
I'ig.Q7(b)

OR
ir. Find i(t) 1br thc circuit sho",u'n in Fig.Q8(a)

*>1 tt)
,^\ >-
.t ) f 5-n-

b.

Fig.Q8(a)

A voltagc pulse of l0V ancl ,5ptscc cluration is applicd

F ig.Q8(b). Find the cr-rnent i(t).

Fig.Q8 (h)

.I'u',\
\ \ +'z

j,\.,* _.>,
Iiig.QT(a)

I-apalcc transfbntt of the pulse shorvn in Fig.Q7(b)'

(10 Marks)

0. Steady state conditions havc

t : 0' for the circuit shown in

(10 Marks)

(10 YIarks)

(10 Marks)

5)L

(10 N{arks)

to the RC network shown in

+

\ o.rL

O.os f<p

(10 Marks)



Module-5
a. Obtain y-parameters interms of z-pararneters and h-parameters.

b. For the network shown in Fig.Q9(b), firld the T-paratncters.

Derive the exptession of
rcsonancc circuit.
For the parallcl resonant
rcsistance.

Fig.Qe(b)

OR
banchvidth, hall' polvcr fiequcncies

circr-rit shor,vn in Fig.Ql0(b), find

l tt r..(_32

(10 -\larks)

(l0 )larks)

attrl .clcctir ity trI it sct ics

(lt) ltarks)
1,,. ls. l,. li, luttl rlylutlttic

l0 a.

b.

!u \A TL \O TF

\o0Y
F ig.Q l0(b)

>k+**x

110 \larks)

3ru

1oo PF
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